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QUESTION 1

Which command can be used to verify whether a BGP prefix is being advertised to a specific neighbor? 

A. show route protocol bgp  

B. show bgp summary  

C. show bgp neighbor  

D. show route advertising-protocol bgp  

Correct Answer: D 

 

QUESTION 2

-- Exhibit ? 

-- Exhibit -

The exhibit shows three switches interconnected using the default RSTP settings. 

What is the role of Port A? 

A. designated 

B. root 

C. alternate 

D. blocking 

Correct Answer: B 
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QUESTION 3

What are two switch port default settings on EX Series switches? (Choose two.) 

A. Set as trunk mode. 

B. Set with VLAN ID 0. 

C. Set with the native VLAN. 

D. Set as access mode. 

Correct Answer: BD 

 

QUESTION 4

-- Exhibit -user@router> show route 0/0 exact detail inet.0: 10 destinations, 10 routes (10 active, 0 holddown, 0 hidden)
0.0.0.0/0 (1 entry, 1 announced) *Aggregate PreferencE. 130 Next hop typE. Router, Next hop index: 546 Next-hop
reference count: 4 Next hop: 10.210.18.1 via ge-0/0/4.200, selected StatE. Local AS: 65400 AgE. 4:09:46 

Task: Aggregate -- Exhibit -Referring to the exhibit, which type of route is displayed? 

A. OSPF 

B. aggregate 

C. static 

D. generate 

Correct Answer: D 

 

QUESTION 5

Switch-1 in the exhibit receives a packet from User A with a destination MAC address of 

00.26.88.02.74.47. 

Which statement is correct in this scenario? 
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A. Switch-1 floods the packet out ge-0/0/7 and ge-0/0/8. 

B. Switch-1 floods the packet out ge-0/0/6, ge-0/0/7, ge-0/0/8 and ge-0/0/9. 

C. Switch-1 sends the packet out ge-0/0/7 only. 

D. Switch-1 floods the packet out ge-0/0/7, ge-0/0/8 and ge-0/0/9. 

Correct Answer: C 
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